S REEAEREE 09 8~)

O8HA2H(A) &G BHF=F BHHFE (MWMXPL) BEHEFE=dER
O8ASH(A) =i EE#M-F FHHFE 1-—3, 9—2(5E] EEMKE=-PPHE
O8A9H(A) =15 FXFE BEHFE 7-—3(6EERM) AIFPER
O8A9H(A) %15 FXFE BEHEE (MXd]) =P8 (KERTH)
O8A1TH(A) £ - #)ZiumfEdh EXHF¥E 12—0[(5E), 17—0[50E]) #MZrdsfEdhEik
O8HA30HE(H) =i £MET FEHFE 7—2, 2—4 SEAFPFEHEGRTH)
OC9H6H(B) 215 .F%FE BHFE 4—1,1—3 BEPEK
O9H13H(H) £i5:PL¥EC B#HFE 1—0, 0—3 PLEEGPER
O9H20H(H) =i5:.-EZHY BFHEFEE 8—11,1—4 EHPER
O9A23B (K) £IHMWE=F FHEE 3—0.1—3 WEFE=dhEH
O9A27B (R) £15:F%H¥E BEHEE (b)) =EsrEERJERT)
Q1048 (B) £15:F%FE BHFE 3—2, 6—2 /\RPPEHE(KKRTH)
O10A18A (A) £5:-#Mmd FHEE 3—0, 7—1 AP EROER™)
O10A258 (A) =5 F7%¥E BFHEFEE 4—2 =EsEPERERT)
O10A258 (B) 25 FHFE BHEFEE 4—4(8E) ERMIchEik
O11A15B(B) =5 EXKD FHFEE 5—1, 7—9 EXDERGFIRT)
O12A138(H) =15 FHFE FHFE 1—-0, 4—4 EHFEPEE(KIRMH)
O1A31H(A) £15:.&XhEd BFHEE 1—2, 1—2 HXEHERUERH)
O2A78(H) =5 PHEHD FHFEE 3—0, 6—0 PFREFFER
O2A14H(B) 2145 F7%¥E BHFE 4—1, 5—4(9[E] JtthADZEE(FIRT)
O2A28H(H) £15:F%FE BFHFE [MXri] BDEEERERGFIILUER)
O2A28H(H) £15:FHFE BFHFE [MXdik] AIREdDER
OB3A7H(H) £15:.F%¥E BFHFE [MEXAik] £FP2E (KERH)
OB3A13H(L) =5 EHRD FHFEE 8—o(5MH], 0—0 EHFERPFK
O3A148(H) =H:MEZ4 FHFE o0-—o0(8MH], 0—2 MEHFE - (FIESH)
O3A22B(A) 2B WE=4 FH¥E 4—0, 8—0, 1—8[4E]) HWEB=rh2
OB3H30B (K) =i5:FHAMBE HHPEE 2—3 BHEPER(KERT)
O3H30B (K) =15 FHAMBE HHEEE 1—0 FHEREPER(KERH)
O3H30B (K) =i5:FHAMBE HEHEE 1—102E) AFEREREEIEST)
O3H3IAOK) =15 FHAMBE BHHPEE 0—1 REPREHR(KERH)
O3H3IAOK) &=i5:FHAMBE HHPEE 6—2 LAREDPERWAT)
O3H3IAOK) &=i5:FHAMBE HHEE 7—205E]) EAKE=FER
O4H4B(H) =5 #mth BEHFEE 4-1 REPEREREW)

O4H4B(H) =i5:#mth BEHPFE 11—5 HMEADEERERERT)
O4A18H(H) £B.2E% BFHFE 0—4, 4—4(8E] EFAEPZHE (KR)
O4A25H(H) £5:FHFE #HEE 13—0(5E], 3—2 ARBEH SR
O5H28(H) 215 F%FE #E#HPEE 13—5(5E] XERENZERBRD R
O5A3B(A) £ -8t BHFEE 6—0, 2—2 EWDER(EFMAT)
O54B(K) =15 FHERE BHFE 1—5 F2IhSEE(KERTH)
O5AR4H(K) =5 FHFE FHFEE o0—1(8E] =fEdZFEHE(KIRH)
O5R4H(K) =5 FHFE FHFEE 1—1(5E]) SEDER

O5A9H(H) £15: kAT BFHFEE 4—0, 9—3 FAEILdEH (Kk™H)
O5H23A8(H) =15 #WEGS FHPEE (EXPL) RRPER

O5A29B (L) <5 EHM=d FHEE 4—0, 14—1(3E]) EHRMKE=dE#
O5H308(H) =15 EKH FHFE 0-—0, 3—1 EXPEREGFIRT)
O6A5H (L) &35 =moéed BFHEEFEE 4—38, 4—1(5E]) =MDOEPER
O6A6H(H) £15:FH¥E BFHFE 3—2 BEEPER

O6HA6H(H) =15 FHERE FEHFE 7—5 BIESEEERET)
O6A12B(1) =5 EEHM-G BFHFE 5—6 ERAMKRE_PER
O6H27H(H) %35 PLEEC BEHEFE 6—4 HEDSFEHGITL-EDH)
O7R10B(1) =15 EHRGD FHFE 5—38. 2—4 EHFERFER
O7B11B(A) 2EHRE=4d BFHFEE (RXALE) RERF=dE
O7H168 (%) =15 £RIHEHKSE FHHPEE (MWXdik) EAMKRE=dER



